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CURVE_DATA ~ CURVE DATA CURVE DATA ¢ URVE_DATA
P.. STA. = 79+53.91 . ,_‘L‘j P.. STA. = 91+56.77 P.. STA. = 97+26.95 P.L. STA. = 102+477.22
DELTA = 26° 00 12" - CURVE_DAIA % DELTA = 5 34’ 09” DELTA = 27° 52) 01" DELTA = & 18" 08"
Dc= 6 30° 00" P STA. = 87+59.98 1= Dc= 3 00’ 00 Dc= 5 00’ 00 Dc= 1° 30° 00"
RADIUS = 881.47' DELTA = 24" 17 37" (p RADIUS = 1,909.86' RADIUS = 1,143.91° RADIUS = 3,819.72’
Ls = 199.89" D= 6 00 00 TANGENT = 92.84' 0 TANGENT = 284.29’ TANGENT = 277.23’
Zs = 6 29’ 48 RADIUS = 954.93 LENGTH = 185.64°  |[= LENGTH = 55734’ LENGTH = 553.48’
_ : TANGENT = 205.54° LiJ _ : = _ o ' - '
LT = 133.35 TANCENT = 200 & E = 2.26 ol E = 34.74 E = 10.05
| ST = 66.71' £ = 2187 > emax = 0.023 S emax = 0.04 emax = 0.028
BEGIN Le = 400.05’ emax = 0.044 Ly P.C. STA. = 90+63.88(C P.C. STA. = 94+42.66 P.C.C. STA. = 99+99.9'
WORK| 17 = 35301 max = ©- P.T. STA. = 92+49.528|1 P.C.C. STA. & 99+99.99  P.T. STA. = 105+53.48
RAMP B T2 —_ 260 44' \ P.C. STA. = 85+54.0 8£ / . ' .
. _ I
STA. 60+00 Es = 37.67 P.T. STA. = 89+58.93 xlo
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BEGIN WORK Ao E ) I | § == C -2 1, RAMP D Pl STA. = 97+37.24
RAMP C Q1P O 4 o= = = DELTA = 7° 30’ 00"
STA. 70+00 [“8  pa € 12 ¢ b= 3 00" 00"
_ 35 RAMP°¢ & = RADIUS = 1,909.86'
| . L ol © Ls = 200.00°
CURVE DATA | CURVE DATA ! &l CURVE DATA s = 3 00" 00"
P.. STA. = 76+23.75 P.. STA. = 79+95.92 OIT . P.. STA. = 84+47.40 CURVE DATA LT = 133.35
DELTA = 8 18’ 08" DELTA = 5 45’ 00" §§ DELTA = 11° 27’ 08" P.J. STA. = 91+92.96 ST = 66.68’
Dc= 1° 30" 00" De= 3 00’ 007 Z[2 De= 4 00’ 00" DELTA = 4 17’ 377 Le = 250.00° |
RADIUS = 3,819.72’ RADIUS = 1,909.86’ / =z RADIUS = 1,432.39' > De= 2° 00’ 00" T4 = 270.78° B
TANGENT = 277.23’ TANGENT = 95.91° ! Wl TANGENT = 143.63’ ' RADIUS = 2,864.79’ T2 = 180.28' :
LENGTH = 553.48’ LENGTH = 191.66’ >° LENGTH = 286.30’ TANGENT = 107.39’ Eg = 8.49° END WORK <
E = 10.05 E = 2.41 Elu E = 7.18’ LENGTH = 214.68’ emax = 0.045 RAMP D © ;
€max = 0.028 €max = 0.040 g emax = 0.035 E = 2.01’ : STA. 1 15-'—00 C\J_
P.C. STA. = 73+46.52 P.C.C. STA. = 79+00.01 ,’ = P.C. STA. = 83+03.77 ‘€max = 0.021 ' — o |
P.C.C. STA. = 79400.01 P.T. STA. = 80+91.67 P.T. STA. = 85+90.07 P.C. STA. = 90+85.57 |
- P.T. STA. = 93+00.25 b |
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Dc= 3 30° 00" Q- | o
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e<gar ' A '3
P.C. STA.T="82441.34, 16'LT. N\, {f 3 |
P.T. STA. = 85+72.70, 2% g N 8 / -
o | 7 \t\\\ 3 !lll




